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| Sine ond cosine
2 What arce limits and why
do we need them?
3. When limits do and do
~ noet exist.
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1  Fanachonn BMéd on Sine

and Cosine

‘o Period = horitontal distance From
~ peak +o peak.

e Amphh.sde = distance (verhcal)
froan M'dlme 4o peak

= may Yy-value = min y-vealue

2
K M.d!.m. = Yy-value that splids Hhe
graph in fwo |

= max. y-ulug + min. \/-’-Valu{
r
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Cosine (cé“‘).

Behavior
hear y-axis
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at midline
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then decreases,
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Example '
Me T. is stropped fo a spinning
circ\e/whe'&l. The 4"6”‘_‘4'”' of
He wheel is 18 ft ond M TL
head i right o~ the edge of
the wheel. The centt- Of +he
wheel is 20 £t off the ground ,
Me. T starts in +he |2 Olelock
pesiHion and Hhe wheel completes
one rotratHon every I8 secondS,
@. hit) is height of Mr. Ts head
obove +Hhe 3r_ound t minvie,
ofrer whee| Stacks gpianing.

() G'ra.p\-\ h(t).
(b) Finct a formula for hit)






2. _\_/_\I_P\ykoo Wg__l—lave L;’_"‘_':tfj;

o Limi¥s help @4 Probe Hhe .
behavior ©oFf Lunctions af x-values
where normal arithmehc and

gra-PM break down.
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Consider f(x) —  sin(x)
| x

- X =0 is nok in the domain So
we cant weork out £(0).

“The limit of £(x) as X approaches

zece, wriffen:

Laim ‘
20 fx)

is.J-l-sc. value w<e would a“:’gn +0

f(o) 1f i+ wers passible 4o caleulate
| £(0).



7 et close 4o |
as we approach /77 '™

Je"’ C|03e +°

l-\ei‘,l\i- of 1 ag

X2 0 from

X=0
The limi+ of £(x) as x=>0
is . | |
Lim £(x) = 1.
X-30 -



